

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052 2016

Department of the Treasury

▶ Do not enter social security numbers on this form as it may be made public. Internal Revenue Service Open to Public Inspection Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf. For calendar year 2016 or tax year beginning , 2016, and ending 20 Name of foundation A Employer identification number Waterhouse Youth Endowment Fund 46-3339507 Number and street (or P O box number if mail is not delivered to street address) Boom/suite B Telephone number (see instructions) 62 Portland Road 25 (207) 985-7000 City or town, state or province, country, and ZIP or foreign postal code C If exemption application is pending, check here ► Kennebunk, Maine 04043 Initial return of a former public charity D 1. Foreign organizations, check here . G Check all that apply: Initial return Amended return Final return 2. Foreign organizations meeting the 85% test, Address change ☐ Name change check here and attach computation E If private foundation status was terminated unde H Check type of organization: Section 501(c)(3) exempt private foundation section 507(b)(1)(A), check here ☐ Section 4947(a)(1) nonexempt charitable trust ☐ Other taxable private foundation Fair market value of all assets at J Accounting method: 🗸 Cash 🗌 Accrual F If the foundation is in a 60-month termination under section 507(b)(1)(B), check here . end of year (from Part II, col. (c), Other (specify) line 16) ► \$ 1,636,961 (Part I, column (d) must be on cash basis.) Part I Analysis of Revenue and Expenses (The total of (d) Disbursements (a) Revenue and (b) Net investment (c) Adjusted net amounts in columns (b), (c), and (d) may not necessarily equal expenses per books purposes (cash basis only) the amounts in column (a) (see instructions)) Contributions, gifts, grants, etc., received (attach schedule) 2 Check ► ✓ If the foundation is not required to attach Sch. B 3 Interest on savings and temporary cash investments 4 Dividends and interest from securities 28,903 28,903 5a Gross rents b Net rental income or (loss) 6a Net gain or (loss) from sale of assets not on line 10 (7,814)Gross sales price for all assets on line 6a 7 Capital gain net income (from Part IV, line 2) . . 8 Net short-term capital gain 9 Income modifications 10a Gross sales less returns and allowances 2 Less: Cost of goods sold . . . **€**₹ Gross profit or (loss) (attach schedule) . SEP 11 Other income (attach schedule) . . 12 Total. Add lines 1 through 11 . 21,089 21,089 SCANNED 13 Compensation of officers, directors, trustees, etc. Expenses 14 Other employee salaries and wages 15 Pension plans, employee benefits Legal fees (attach schedule) . STMT. 1 16a 4,195 4,195 Accounting fees (attach schedule) . . b Administrative Other professional fees (attach schedule) STMT , 1C 7,960 7,960 0 17 Taxes (attach schedule) (see instructions) STMT 1 18 464 19 Depreciation (attach schedule) and depletion . . . 20 21 Travel, conferences, and meetings Operating and 22 Printing and publications . . . 23 Other expenses (attach schedule) 24 Total operating and administrative expenses. Add lines 13 through 23 12,619 8.424 4,195 25 Contributions, gifts, grants paid 75,086 75,086 Total expenses and disbursements. Add lines 24 and 25 26 87.705 8.424 0 79,281 Subtract line 26 from line 12: Excess of revenue over expenses and disbursements (66,616)**Net investment income** (if negative, enter -0-) . 12,665 Adjusted net income (if negative, enter -0-)

For Paperwork Reduction Act Notice, see instructions.

Cat No 11289X

Form 990-PF (2016)

Part II	Balance Sheets Attached schedules and amounts in the description column	Beginning of year	End of	year
- entri	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	(a) Book Value	(b) Book Value	(c) Fair Market Value
1	Cash-non-interest-bearing	99,933	22,883	22,883
2	Savings and temporary cash investments			
3	Accounts receivable ►	"	1	,
	Less: allowance for doubtful accounts ▶			
4	Pledges receivable ►	, `	·	• .
	Less: allowance for doubtful accounts ▶			
5	Grants receivable	[
6	Receivables due from officers, directors, trustees, and other	ŀ	•	
1	disqualified persons (attach schedule) (see instructions)			
7	Other notes and loans receivable (attach schedule)			7 - 3 - 2
	Less: allowance for doubtful accounts ▶	<u> </u>		
र्द्ध । 8	Inventories for sale or use			
Assets 9 10a	Prepaid expenses and deferred charges		<u></u>	
∛ 10a	Investments-U.S. and state government obligations (attach schedule)	339,819	218,463	
b	Investments—corporate stock (attach schedule)	1,157,140	1,288,930	1,399,057 S
С	Investments—corporate bonds (attach schedule)			
11	Investments—land, buildings, and equipment: basis ▶	_}		
{	Less: accumulated depreciation (attach schedule) ▶		<u></u>	<u></u>
12	investments-mortgage loans		L	
13	Investments—other (attach schedule)			
14	Land, buildings, and equipment: basis ▶	,	• • •	
- 1	Less: accumulated depreciation (attach schedule) ▶			
15	Other assets (describe ►) Total assets (to be completed by all filers—see the			
16	Total assets (to be completed by all filers-see the			
	instructions. Also, see page 1, item l)	1,596,892	1,530,27	1,636,961
17	Accounts payable and accrued expenses			
ທ 18	Grants payable			
Liabilities 61 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Deferred revenue			
등 20	Loans from officers, directors, trustees, and other disqualified persons		<u> </u>	
.면 21	Mortgages and other notes payable (attach schedule)			
ے ₂₂	Other liabilities (describe ►)		
23	Total liabilities (add lines 17 through 22)		0	0
nd Balances 52 26 74 25 26	Foundations that follow SFAS 117, check here ▶ ☐ and complete lines 24 through 26 and lines 30 and 31.]		
<u> </u>	Unrestricted			* * * * * * * * * * * * * * * * * * * *
ह्य 25	Temporarily restricted			
m 26	Permanently restricted		1	
	Foundations that do not follow SFAS 117, check here ▶ ☑			-
3	and complete lines 27 through 31.	-		
ර් 27	Capital stock, trust principal, or current funds		}	
<u>\$</u> 28				
9 29		s 1,596,89	92 1,530,2	76
Net Assets 30 31 38				
<u>a</u> 31	·		1,550,2	
Z	instructions)		92 1,530,2	76
Part I			921 1,030,2	.70
	otal net assets or fund balances at beginning of year-Part II, o		nust agree with	
	nd-of-year figure reported on prior year's return)		- (1 1,596,892
	nter amount from Part I, line 27a		\	
				2 (66,616) 3 0
4 ^	other increases not included in line 2 (itemize) ►	·		
5 D	lecreases not included in line 2 (itemize) ►	5)_Dart II column /h) line 30	
0 1	otal fier assets of fullo balances at end of year time 4 minus line :	oj-Fart II, COIUIIIII (L	η, iiile 00	6 1,530,276 Form 990-PF (2016

	(a) List and describe the	Losses for Tax on Ir e kind(s) of property sold (e.g., te, or common stock, 200 shs	real estate,	<u></u>	(b) How acquired P—Purchase D—Donation	(c) Date acquir (mo., day, yr		(d) Date sold (mo , day, yr.)
1a	Publically traded securities	- short-term						
b	Publicly traded securities -	long-term						
c	Principal Midcap Fund - CG	D						
d								
e					<u> </u>			<u></u>
	(e) Gross sales price	(f) Depreciation allowed (or allowable)	d		r other basis			n or (loss) (f) minus (g)
a	166,090				166,611			(521
b	116,350				125,824			(9,474
<u>c</u>	2,181				0			2,18
d						<u></u>		
е	Complete only for assets sho	wing gain in column (h) an	d owned b	v the foundation	on 12/21/60			
	Complete only for assets site		O OWNED D					ol (h) gain minus ot less than -0-) or
	(i) F M V. as of 12/31/69	(j) Adjusted basis as of 12/31/69			ss of col (i)			(from col (h))
<u>a</u>								(52
b								(947
C		 				 		2,11
d								
е		L	H goin a	also enter in P	net Line 7	},		
2	Capital gain net income of	or (net capital loss)		enter -0- in P		2		/= n.
3	Net short-term capital ga	in or (lose) as defined in				-		(7,81
3	If gain, also enter in Par					1 1		
	Part I, line 8					3		(5)
ar	t V Qualification Un	der Section 4940(e) f	or Redu	ced Tay on	Net Investmen			(5:
as "Y	ction 4940(d)(2) applies, lea the foundation liable for the es," the foundation does no	e section 4942 tax on that qualify under section 4	4940(e). D	o not comple	te this part.			
1	Enter the appropriate an	nount in each column for	r each yea	ar; see the ins	tructions before	naking any e	ntrie	s
Ca	(a) Base period years slendar year (or tax year beginning	(b) Adjusted qualifying	distribution	s Net value	(c) e of noncharitable-use	assets		(d) Distribution ratio b) divided by col (c))
	2015							
	2014							
	2013							
	2012							
	2011							
	Total of line 1 column ((d)						
2							+	
3	Average distribution rati	io for the 5-year base pe	eriod — div	vide the total o	on line 2 by 5, or	by the	-	
		io for the 5-year base pe	eriod — div	vide the total o	on line 2 by 5, or	by the		
	Average distribution rati number of years the fou	io for the 5-year base pe indation has been in exi	eriod—div stence if I	vide the total o less than 5 yea	on line 2 by 5, or ars	by the 3		
3	Average distribution rati number of years the fou Enter the net value of no	io for the 5-year base pe indation has been in exis oncharitable-use assets	eriod—div stence if I for 2016	vide the total of less than 5 year from Part X, li	on line 2 by 5, or ars	by the 3		
3	Average distribution rati number of years the fou Enter the net value of no	io for the 5-year base pe indation has been in exis oncharitable-use assets	eriod—div stence if I for 2016	vide the total of less than 5 year from Part X, li	on line 2 by 5, or ars	by the 3		
3	Average distribution ratinumber of years the four Enter the net value of not Multiply line 4 by line 3	io for the 5-year base pe indation has been in exis oncharitable-use assets	eriod—div stence if I for 2016	vide the total of less than 5 years from Part X, li	on line 2 by 5, or ars	by the 3		
3 4 5	Average distribution ratinumber of years the four Enter the net value of not Multiply line 4 by line 3 Enter 1% of net investri	io for the 5-year base pe Indation has been in exist Incharitable-use assets	eriod — div stence if I for 2016 	vide the total of less than 5 years from Part X, li	on line 2 by 5, or ars	by the 3 4 5		
3 4 5	Average distribution ratinumber of years the four Enter the net value of not Multiply line 4 by line 3 Enter 1% of net investment Add lines 5 and 6	io for the 5-year base per undation has been in exi- oncharitable-use assets 	eriod — div stence if I for 2016 t I, line 27	vide the total of less than 5 years from Part X, line (b) (c) (c) (d) (d) (d) (e) (e) (e) (e) (e) (e) (e) (e) (e) (e	on line 2 by 5, or ars	by the 3 4 5 6		

Part V		ructi	ons)	_
	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1. Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)	, ,	,	-
ь	Domestic foundations that meet the section 4940(e) requirements in Part V, check	_ 25	3	
	here ▶ 🔲 and enter 1% of Part I, line 27b	-	\mathbf{T}	
	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of) Part I, line 12, col. (b).	,		
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0	
-	Add lines 1 and 2	2	53	
	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		ᆈ	
	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0	2	53	7
6	Credits/Payments:	6 8	5 N	
_	2016 estimated tax payments and 2015 overpayment credited to 2016 6a 1,310 Exempt foreign organizations—tax withheld at source		.],	
b b	Exempt foreign organizations—tax withheld at source		` \ ,.	ί,
d	Backup withholding erroneously withheld 6d	· .		,
7	Total credits and payments. Add lines 6a through 6d	1,3	10	
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached		0	
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed ▶ 9		0	
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid • 10	1,0)57	
11	Enter the amount of line 10 to be: Credited to 2017 estimated tax ▶ 1,057 Refunded ▶ 11		0	
	VII-A Statements Regarding Activities	- 15	. 1	 -
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		es	No
ь.	participate or intervene in any political campaign?	1a		✓_
b	Instructions for the definition)?	1b		✓_
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities.			`,,,
С	→ · · · · · · · · · · · · · · · · · · ·	1c		<u>✓</u>
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year: (1) On the foundation. ▶ \$ 0 (2) On foundation managers. ▶ \$ 0	,		•
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ▶ \$ 0		, '·	, * *
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		✓
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	1	
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		1
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b		N/A
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		1
	If "Yes," attach the statement required by General Instruction T.	; ` .		
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		~	,
	By language in the governing instrument, or	1 3		32
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law remain in the governing instrument?		``	*, '
_	Common train the state fair formant in the government in the contained in	7	-	+
7 8a	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV Enter the states to which the foundation reports or with which it is registered (see instructions) ▶		\	+
Od	Maine	, 14		
k	000 PE 1 H Allers On the 1	0.5		1
_		8b	1.7	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2016 or the taxable year beginning in 2016 (see instructions for Part XIV)? If "Yes," complete Part XIV			1
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their	9	+	+*
10	names and addresses	10		1
				PF (201)

Part Part	VII-A Statements Regarding Activities (continued)			
		Ý	es l	No
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		√
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified	12		<u> </u>
13	ļ a		1	_
14	The books are in care of ▶ Christian L. Barner, Esq. Telephone no. ▶ (207)	985-7	000	
		04043		
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here and enter the amount of tax-exempt interest received or accrued during the year		,)	- 🗀
16	At any time during calendar year 2016, did the foundation have an interest in or a signature or other authority		Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		1
	the foreign country ►	`	İ	,
Par	VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):	1		
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes V No (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes No	()	` '	1,
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes . No			, i
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)		.?	, , , , , , , , , , , , , , , , , , ,
b		1b	1	Y/A
	Organizations relying on a current notice regarding disaster assistance check here	1,7	3 At 1 4	1
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2016?	1c		1
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):	J		
a	At the end of tax year 2016, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2016?	, ,		;
	If "Yes," list the years ▶ 20 , 20 , 20 , 20	1, ,	1 ,	-
ŀ	If "Yes," list the years ▶ 20 , 20 , 20 , 20	,	2	
	all years listed, answer "No" and attach statement—see instructions.)	2b		N/A
9.	▶ 20 , 20 , 20 , 20 Did the foundation hold more than a 2% direct or indirect interest in any business enterprise	١.		
3	at any time during the year?			
I	If "Yes," did it have excess business holdings in 2016 as a result of (1) any purchase by the foundation or	٠	4 35	1 d
	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the		1 -	
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of	F 1		. بالاد د الاد
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the	•	1	1
	foundation had excess business holdings in 2016.)	3t		N//
4			1	-
	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2016.			ļ,

	0-PF (2016)	San Militada Paris di	200 Mars Bar 5	7		Page 6
	VII-B Statements Regarding Activities		720 May Be Rec	quired (continued)		
5a	During the year did the foundation pay or incur and (1) Carry on propaganda, or otherwise attempt to (2) Influence the outcome of any specific public directly or indirectly, any voter registration drives	influence legislation election (see section				
	(3) Provide a grant to an individual for travel, stud(4) Provide a grant to an organization other than section 4945(d)(4)(A)? (see instructions)		ganization describ	Yes V No		
	(5) Provide for any purpose other than religious, purposes, or for the prevention of cruelty to ch		, literary, or educa	tional		
b	If any answer is "Yes" to 5a(1)-(5), did any of the Regulations section 53.4945 or in a current notice re	transactions fall to o egarding disaster ass	qualify under the existance (see instruc	ceptions described in	5b	N/A
С	Organizations relying on a current notice regarding if the answer is "Yes" to question 5a(4), does the because it maintained expenditure responsibility.	ne foundation claim	exemption from th		7 E .	
6а	If "Yes," attach the statement required by Regular Did the foundation, during the year, receive any fon a personal benefit contract?		1-7	niums · · ☐ Yes ☑ No		*
b	Did the foundation, during the year, pay premium If "Yes" to 6b, file Form 8870.	s, directly or indirec	tly, on a personal l	penefit contract? .	6b	1
b	At any time during the tax year, was the foundation a If "Yes," did the foundation receive any proceeds	a party to a prohibited s or have any net inc	tax shelter transact	tion? Yes No the transaction?	7b	N/A
	t VIII Information About Officers, Direction and Contractors				mploy	ees,
1	List all officers, directors, trustees, foundation				,	
	(a) Name and address	(b) Title, and average hours per week expoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation		ense account, allowances
Paige	S. Hill	Secretary, Director	 		1	
62 Po	rtland Road, Suite 25, Kennebunk, Maine 04043	1 hr. per month	0	0	ļ	0
Geral	dine K. Waterhouse	Director				
62 Po	rtland Road, Suite 25, Kennebunk, Maine 04043	1 hr. per month	0	0	ļ	
Barry	A. Tibbetts	Director				
	rtland Road, Suite 25, Kennebunk, Maine 04043	1 hr. per month	0		<u> </u>	(
Chris	topher H. Hill	Director	}			
62 Pc	ortland Road, Suite 25, Kennebunk, Maine 04043	1 hr. per month	0	<u> </u> 0	1	
2	Compensation of five highest-paid employe "NONE."	es (other than tho	se included on li	ne 1—see instruction	ns). If	none, ente

Form **990-PF** (2016)

Five highest-paid independent contractors for professional services (see instructions). If none, enter "NONE."	Part \	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid En and Contractors (continued)	ıpl	oyees,
(e) Name and address of each person paid more than \$50,000 (b) Type of service (c) Compensation one (c) Type of service (c) Compensation one (c) Type of service (c) Compensation one (c) Type of service (c) Compensation (c) Comp	3		ίΕ."	
Octal number of others receiving over \$50,000 for professional services . ▶ None Part IX-A Summary of Direct Charitable Activities Lust the foundation's for largest direct charable activities during the tax year include relevant statistical information such as the number of organizations and other benchraines served, conferences convened, research papers produced, etc. 1 N/A 2 3 4 Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount 1 N/A All other program-related investments. See instructions 3 All other program-related investments. See instructions Total. Add lines 1 through 3 ▶ No.			_	
List the foundation's four largest direct charitable activities	lone		T	
List the foundation's four largest direct charitable activities			L	
List the foundation's four largest direct charitable activities				
List the foundation's four largest direct charitable activities			+	
List the foundation's four largest direct charitable activities				
List the foundation's four largest direct charitable activities			十	
List the foundation's four largest direct charitable activities	,		1	
List the foundation's four largest direct charitable activities			\top	
Part IX-A Summary of Direct Charitable Activities Let the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1			上	
List the foundation's four largest direct charitable activities during the tax year Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1	otal	number of others receiving over \$50,000 for professional services	$oldsymbol{\mathbb{I}}$	None
organizations and other beneficiaries served, conferences convened, research papers produced, etc 1 N/A 2 3	Part	IX-A Summary of Direct Charitable Activities		
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount 1 N/A All other program-related investments See instructions 3 Total. Add lines 1 through 3 No	List	the foundation's four largest direct charitable activities during the tax year include relevant statistical information such as the number of anizations and other beneficiaries served, conferences convened, research papers produced, etc		Expenses
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. All other program-related investments See instructions All other program-related investments See instructions Total. Add lines 1 through 3	1 1	N/A	7	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. All other program-related investments See instructions All other program-related investments See instructions Total. Add lines 1 through 3	_			
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. All other program-related investments See instructions All other program-related investments See instructions Total. Add lines 1 through 3			\perp	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions 3 Total. Add lines 1 through 3	2 .		- }	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions 3 Total. Add lines 1 through 3			-	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions 3 Total. Add lines 1 through 3	3		\dashv	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions Total. Add lines 1 through 3	•		-	
Part IX-B Summary of Program-Related Investments (see instructions) Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions Total. Add lines 1 through 3			-	
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions Total. Add lines 1 through 3	4			
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions Total. Add lines 1 through 3				
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount All other program-related investments See instructions Total. Add lines 1 through 3				
1 N/A 2 All other program-related investments See instructions 3 Total. Add lines 1 through 3				Amazint
Ail other program-related investments. See instructions. Total. Add lines 1 through 3			\dashv	Amount
All other program-related investments See instructions 3 Total. Add lines 1 through 3	•	IVA		
All other program-related investments See instructions 3 Total. Add lines 1 through 3				
All other program-related investments See instructions 3 Total. Add lines 1 through 3	2			
Total. Add lines 1 through 3				
Total. Add lines 1 through 3				l
Total. Add lines 1 through 3	All	other program-related investments. See instructions		
	્ 3	.,		1
	Tota	Add lines 1 through 3	_	
	1018	in red into 1 throught 0	_	Nor Form 990-PF (201

_	Minimum Investment Return (All domestic foundations must complete this part. Foreign	lound	alions,
	see instructions.)		
	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,	*	
	purposes:		
		1a	1,578,571
b		1b	54,032
		1c	0
d	Total (add lines 1a, b, and c)	1d	1,632,603
е	Reduction claimed for blockage or other factors reported on lines 1a and		
_	1c (attach detailed explanation)	-	
2	Acquisition indebtedness applicable to line 1 assets	2	0
3	Subtract line 2 from line 1d	3	1,632,603
4	Cash deemed held for charitable activities. Enter 11/2% of line 3 (for greater amount, see		
	instructions)	4	24,489
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,608,114
6	Minimum investment return. Enter 5% of line 5	6	80,406
Part	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating for and certain foreign organizations check here ► ☐ and do not complete this part.)	oundati	ons
1	Minimum investment return from Part X, line 6	1	80,406
2a	Tax on investment income for 2016 from Part VI, line 5	N. I	
b	Income tax for 2016. (This does not include the tax from Part VI.)	' <u> </u>	
С	Add lines 2a and 2b	2c	253
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	80,153
4	Recoveries of amounts treated as qualifying distributions	4	0
5	Add lines 3 and 4	5	80,153
6	Deduction from distributable amount (see instructions)	6	0
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	80,153
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	, ~ .	
а	Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26	1a	79,281
b	Program-related investments—total from Part IX-B	1b	0
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	0
3	Amounts set aside for specific charitable projects that satisfy the:	13-1	
a	Suitability test (prior IRS approval required)	3a	O
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	79,281
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		19,20
•	Enter 1% of Part I, line 27b (see instructions)	5	(
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	79,28
•	Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating		
	qualifies for the section 4940(e) reduction of tax in those years.	ng wile	mer the loundation

Part 2	VIII Undistributed Income (see instruction	ns)			
1	Distributable amount for 2016 from Part XI,	(a) Corpus	(b) Years prior to 2015	(c) 2015	(d) 2016
_	line 7			',	80,153
2	Undistributed income, if any, as of the end of 2016:	· · ·	•		
a	Enter amount for 2015 only		<u>, , , , , , , , , , , , , , , , , , , </u>	75,086	· · · · · · · · · · · · · · · · · · ·
b	Total for prior years: 20,20,20	_ 	0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
3	Excess distributions carryover, if any, to 2016:		4		
a	From 2011				
b	From 2013 0	(, ^ 4) ; , ,		1. 2	14 14 16
c d	From 2014 0	,			
e	From 2015 0				1.
f	Total of lines 3a through e		, , , , ,		
4	Qualifying distributions for 2016 from Part XII,			1	
а	Applied to 2015, but not more than line 2a.	* , , ' ^		75,086	, , , , , , , , , , , , , , , , , , , ,
	Applied to undistributed income of prior years			15,080	***************************************
	(Election required—see instructions)				·
С		<u> </u>	 	9	
·	required—see instructions)				
d	Applied to 2016 distributable amount	\	-		4,195
e	Remaining amount distributed out of corpus		D		7,100
5	Excess distributions carryover applied to 2016		0	1	0
•	(If an amount appears in column (d), the same amount must be shown in column (a).)				, , , , ,
6	Enter the net total of each column as indicated below:	\$.		*	
а	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5		oli i		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
b				0	100000
С	Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed				
d					
_	Undistributed income for 2015. Subtract line		- , 	0	
•	4a from line 2a. Taxable amount—see instructions	1 . ' '			
f			* 	- 1	
,	4d and 5 from line 1. This amount must be				
	distributed in 2017				
7		, 	1.7	3 3	75,95
•	to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (Election may be	1			
	required—see instructions)		0	<u>国际公司</u>	
8	—::-:::	t	1000 1000		
	applied on line 5 or line 7 (see instructions) .		0		
9	Excess distributions carryover to 2017 Subtract lines 7 and 8 from line 6a	·	0 0 0 0 0		
10	Analysis of line 9:		7 7 7 7	3 12.55. 4	
	1	I/A			
	b Excess from 2013	0		The street	
	c Excess from 2014	0			"
	d Excess from 2015	0			
	e Excess from 2016	0			

art)					9)	
la	If the foundation has received a ruling foundation, and the ruling is effective for			•		
ь	Check box to indicate whether the found		_			(3) or 4942(j)(5)
2a	Enter the lesser of the adjusted net	Tax year	- operating rounds	Prior 3 years	ection [] 4342()	1 4542()(5)
	income from Part I or the minimum investment return from Part X for each year listed	(a) 2016	(b) 2015	(c) 2014	(d) 2013	(e) Total
c	85% of line 2a					
d	Amounts included in line 2c not used directly for active conduct of exempt activities					
e	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon:					
а	"Assets" alternative test—enter: (1) Value of all assets (2) Value of assets qualifying under					
þ	section 4942(j)(3)(B)(i)					
С	"Support" alternative test—enter: (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties).					
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii) .					
	(3) Largest amount of support from an exempt organization					
	(4) Gross investment income					
Par	t XV Supplementary Informati		•	the foundation	n had \$5,000 or	more in assets a
	any time during the year-		ons.)			
1 a	Information Regarding Foundation List any managers of the foundation before the close of any tax year (but	who have contr				
N/A	, , ,				. , ,	,
b	List any managers of the foundation ownership of a partnership or other of			•		y large portion of th
N/A						
2	Information Regarding Contribution Check here ▶ ☑ if the foundation unsolicited requests for funds. If the other conditions, complete items 2a	n only makes confoundation makes	ontributions to pre	eselected charitat	ole organizations	
			il address of the p	erson to whom ap	oplications should	be addressed:
1	The form in which applications shou	ild be submitted	and information a	nd materials they	should include:	
	c Any submission deadlines:					
	d Any restrictions or limitations on factors:	awards, such a	s by geographica	al areas, charitab	ole fields, kinds o	f institutions, or oth

3 Grants and Contribution	s Paid During 1	the Year or Approve	ed for Fut	ture Payment	
Recipient		If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home a Paid during the year	or business)	or substantial contributor	recipient		
			}		
own of Kennebunk Summer Street, Kennebunk, Maine	04043	N/A	GOV	To support programming at the Waterhouse Center in Kennebunk, ME	75,08
Tatal					
b Approved for future payme		 	- 	· · · · · · · · · · · · · · · · · · ·	3a 75
z /ppiorod /o. idiaio pay///	<i></i>				l
			1		}
				1	
				\	
			l		
					1
		ſ	1	j	i

Program service revenue: Business code Amount Business code Amount Exclusion code Amount See instructions function income (See instructions b c d e Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate: a Debt-financed property b Not debt-financed property Other investment income Garan or (loss) from special events Gross profit or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e Subtotal. Add columns (b), (d), and (e) O 21,089	r gross	amounts unless otherwise indicated.	Unrelated bu	siness income	Excluded by section	on 512, 513, or 514	(e)
b c d d e f f g Fees and contracts from government agencies	Progra	am service revenue:	1 ' ' 1	' '		(a) (Related or exemp function income (See Instructions.)
c d e f g Fees and contracts from government agencies	. —						
d e f g Fees and contracts from government agencies Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities 14 28,903 Net rental income or (loss) from real estate: a Debt-financed property b Not debt-financed property Chter investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) e worksheet in line 12, columns (b), (d), and (e) e worksheet in line 12, columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) e worksheet in line 13 instructions to verify calculations.) 3 Relationship of Activities to the Accomplishment of Exempt Purposes Ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	p _						L
g Fees and contracts from government agencies Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities i Net rental income or (loss) from real estate: a Debt-financed property b Not debt-financed property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from sales of inventory Other revenue: a b C Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				 			
g Fees and contracts from government agencies Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities	_						
g Fees and contracts from government agencies Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate: a Debt-financed property Not debt-financed property Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d a Subtotal. Add columns (b), (d), and (e) Subtotal. Add columns (b), (d), and (e) Be worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)							
Membership dues and assessments Interest on savings and temporary cash investments Dividends and interest from securities Net rental income or (loss) from real estate: a Debt-financed property Not debt-financed property Not rental income or (loss) from personal property Other investment income Gain or (loss) from special events Other revenue: a b C Subtotal. Add columns (b), (d), and (e) Subtotal. Add columns (b), (d), and (e) Subtotal. Add line 12, columns (b), (d), and (e) Subtotal. Add line 12, columns (b) verify calculations.) Belationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)			<u> </u>	<u> </u>	ļ		ļ
Interest on savings and temporary cash investments Dividends and interest from securities	_		 	<u> </u>	 	 	
Dividends and Interest from securities							
Net rental income or (loss) from real estate: a Debt-financed property b Not debt-financed property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from sales of inventory Other revenue: a b C d e 2 Subtotal. Add columns (b), (d), and (e) Total. Add line 12, columns (b), (d), and (e) worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)			 	 	 	 	
a Debt-financed property b Not debt-financed property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from sales of assets other than inventory Net income or (loss) from sales of inventory Other investment income Gain or (loss) from sales of assets other than inventory Other investment income Gain or (loss) from sales of inventory Other investment income Other investment inventory Other investment inventory Other investment income Other investment inventory Other inventory Other inventory Other investment inventory Other inv				 	14	28,903	
b Not debt-financed property			-	 	 	 	
Net rental income or (loss) from personal property Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) Total. Add line 12, columns (b), (d), and (e) we worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				}	 	 	
Other investment income Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) Total. Add line 12, columns (b), (d), and (e) we worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				 	 	 	 -
Gain or (loss) from sales of assets other than inventory Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) Total. Add line 12, columns (b), (d), and (e) e worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Line No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)			 	 	 		
Net income or (loss) from special events Gross profit or (loss) from sales of inventory Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) be worksheet in line 13 instructions to verify calculations.) Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				 	14	(7.01A)	.
Office contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)		• •		 	 	(7,814	4
Other revenue: a b c d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) be worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)		· · · · · · · · · · · · · · · · · · ·			 	 	
b c d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) 6 e worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				 	 	 	
c d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) 9 worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)				 	 	 	1
d e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) 2 se worksheet in line 13 instructions to verify calculations.) art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	-			 	+	 	
e 2 Subtotal. Add columns (b), (d), and (e) 3 Total. Add line 12, columns (b), (d), and (e) 9 eworksheet in line 13 instructions to verify calculations.) art XVI-B. Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	-			 	+	 	
2 Subtotal. Add columns (b), (d), and (e)	е -				 	+	
Total. Add line 12, columns (b), (d), and (e)							1
art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	Subt	total. Add columns (b), (d), and (e)		 	0	21.08	9
art XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes ine No. Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	Subt	total. Add columns (b), (d), and (e)					
Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes). (See instructions.)	Subt	II. Add line 12, columns (b), (d), and (e)					
	Subt Tota e work	Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations.	 ons.)			. 13	
	Subt Tota e work art XV ne No.	al. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculation. Relationship of Activities to the	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. I-B Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,
	Subt Tota e work art XV ne No.	II. Add line 12, columns (b), (d), and (e) sheet in line 13 instructions to verify calculations. Relationship of Activities to the Explain below how each activity for which accomplishment of the foundation's exempt p	ons.) Accomplish i	ment of Exem	pt Purposes	. 13	21,

Part X	VIII	Exempt Org		ers 10 and Transaction	ns and He	iationsnips with Nonci	naritable
in	n secti	organization di	rectly or indirectly eng			ther organization describe tion 527, relating to politic	
			_	noncharitable exempt org			1a(1)
(2	2) Oth						1a(2) ✓
(2	2) Pui	chases of asset	ts from a noncharitable	e exempt organization .			
(4	4) Re	imbursement an	rangements				1b(4) ✓
((6) Pe	rformance of se	rvices or membership	or fundraising solicitation	ıs		1b(6) ✓
d li	f the a	answer to any coof the goods, ot	of the above is "Yes," ther assets, or service	complete the following s s given by the reporting t	schedule. Condation.	olumn (b) should always a If the foundation received the goods, other assets, o	show the fair market less than fair market
(a) Line r) Amount involved		itable exempt organization		otion of transfers, transactions, an	
N/A							
	-		 		<u> </u>		
	}				- 		
	\dashv						
	\dashv						
	\neg	 					
	_		ļ				
					_		
			 				
			 				
	desci	ribed in section				re tax-exempt organization 527?	
		(a) Name of orga		(b) Type of organizat	lon	(c) Description of	relationship
N/A							
							
						 	
							
		er penalties of perjury	, I declare that I have examine	d this return, including accompany an taxpayer) is based on all informa	ing schedules a	nd statements, and to the best of my	knowledge and belief, it is tru
Sign Here		nature of difficer or to	Hill	[7][7]	President Title	N	lay the IRS discuss this return th the preparer shown below see instructions)? Yes No
		Print/Type prepar		Preparer's signature	.,	Date	LPTIN
Paid		Barbara I. Belik		Barban e.	Belie		∟
Prep				LLC		Firm's EIN ▶	01-0513838
Use	Uniy	Firm's address		ite 25, Kennebunk, Maine	04043	Phone no.	(207) 985-7000
							000 DE

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

EIN #46-3339507

Part :	I, Ana	lysis (of Revenue	and	Expenses
	_,	,			

	200
Line 16a, Legal F	. CC2
~	

Tax Compliance and Consulting Fees	<u>\$4,195</u>

Line 16c, Other Professional Fees

Investment Management Fees	<u>\$7,960</u>
investment Management rees	<u>\$7,9</u>

Line 18, Taxes

§4940 Tax on Net Investment Income	\$		-	
Foreign Taxes Paid on Dividends		40	<u>64</u>	
	<u>\$_</u>	4	<u>64</u>	

Waterhouse Youth Endowment Fund EIN # 46-3339507 Form 990-PF

Tax Year Ended 12/31/16

Part II, Balance Sheets Line 10a, Investments – U.S and State Government Obligations

Fixed income					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
Mutual Funds					
ISHARES BARCLAYS 1-3 YR CR BD FD CLOSED-END FUND CSJ	308.0000	104.940	32,321.52	105.47	32,484.76
ISHARES BARCLAYS 3-7 YR TREAS BD CLOSED-END FUND IEI	346.0000	122.510	42,388.46	123.99	42,899.15
ISHARES BARCLAYS INTER CREDIT BD CLOSED-END FUND CIU	301.0000	108.190	32,565.19	110.49	33,258.66
ISHARES BARCLAYS INTER GVT/CR BD CLOSED-END FUND GVI	781.0000	109.850	85,792.85	111.75	87,277.14
ISHARES US CREDIT BOND ETF CRED	201.0000	109.220	21,953.22	112.16	22,543.48
Total Mutual Funds			215,021.24		218,463.19
Total Fixed Income			215,021.24		218,463.19

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

Equity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
Common Stock					
3M CO COM MMM	75.0000	178.570	13,392.75	144.10	10,807.50
ACCENTURE PLC FGN COM CL A ACN	100.0000	117.130	11,713.00	73.86	7,386.00
AETNA INC COM AET	155.0000	124.010	19,221.55	110.46	17,121.70
ALPHABET INC COM CL A GOOGL	20.0000	792.450	15,849.00	754.73	15,094.60
AMEREN CORP COM AEE	200.0000	52.460	10,492.00	45.51	9,102.00
APPLE INC COM AAPL	250.0000	115.820	28,955.00	83.46	20,863.75
AT&T INC COM T	200.0000	42.530	8,506.00	34.55	6,910.00
BERKSHIRE HATHAWAY INC COM CL B BRK/B	145.0000	162.980	23,632.10	141.32	20,491.40
BURLINGTON STORES INC COM BURL	100.0000	84.750	8,475.00	59.04	5,904.00

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

iuity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
CAPITAL ONE FINANCIAL CORP COM COF	125.0000	87.240	10,905.00	81.14	10,142.50
CELGENE CORP COM CELG	100.0000	115.750	11,575.00	77.84	7,784.00
CHURCH & DWIGHT INC COM CHD	200.0000	44.190	8,838,00	42.99	8,597.00
CINCINNATI FINANCIAL CORP COM CINF	150.0000	75.750	11,362.50	47.13	7,069.5
CME GROUP INC COM CME	100.0000	115.350	11,535.00	86.97	8,696.5
CMS ENERGY CORP COM CMS	200.0000	41.620	8,324.00	26.24	5,248.0
COCA COLA CO COM KO	400.0000	41.460	16,584.00	42.93	17,171.
COMCAST CORP COM CL A CMCSA	225.0000	69.050	15,536.25	57.38	12,910.
CONOCOPHILLIPS COM COP	225.0000	50.140	11,281.50	68.33	15,374

'Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

uity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
COSTCO WHOLESALE CORP COM COST	50.0000	160.110	8,005.50	115.05	5,752.50
CVS HEALTH CORPORATION CVS	100.0000	78.910	7,891.00	105.46	10,546.00
DANAHER CORP DEL COM DHR	150.0000	77,840	11,676.00	52.61	7,891.62
DELL TECHNOLOGIES INC COM CL V DVMT	33.0000	54.970	1,814.01	44.13	1,456.45
DIAMONDBACK ENERGY INC COM FANG	125.0000	101.060	12,632.50	70.22	8,777.50
DISCOVER FINANCIAL SERVICES COM DFS	280.0000	72.090	20,185.20	51.76	14,492.80
DOW CHEMICAL CO COM DOW	125.0000	57.220	7,152.50	51.32	6,415.00
EXXON MOBIL CORP COM XOM	200.0000	90.260	18,052.00	86.80	17,360.00
FACEBOOK INC COM CL A FB	125.0000	115.050	14,381.25	86.14	10,767.50

· Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

Part II, Balance Sheets Line 10b, Investments – Corporate Stock

Equity

Equity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
FORTIVE CORP COM FTV	75.0000	53,630	4,022.25	34.27	2,569.88
GENERAL MOTORS CO COM GM	400.0000	34.840	13,936.00	34.51	13,805.26
GILEAD SCIENCES INC COM GILD	100.0000	71.610	7,161.00	63.68	6,368.00
HENRY SCHEIN INC COM HSIC	50.0000	151.710	7,585.50	138.27	6,913.50
HOME DEPOT INC COM HD	100.0000	134.080	13,408.00	75.77	7,577.00
INTEL CORP COM INTC	350.0000	36.270	12,694.50	26.32	9,210.50
INTERNATIONAL BUSINESS MACHS COM IBM	135.0000	165.990	22,408.65	162.41	21,925.27
INTUIT COM INTU	100.0000	114.610	11,461.00	97.23	9,723.00

·Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

- Description	Quantity	Unit Price	Market Value	Cost per Unit	. Tax Cost
JOHNSON & JOHNSON COM JNJ	100.0000	115.210	11,521.00	86.74	8,674.00
JP MORGAN CHASE & CO COM JPM	200.0000	86.290	17,258.00	52.02	10,404.00
LYONDELLBASELL INDUSTRIES N V FGN COM CL A LYB	75.0000	85.780	6,433.50	111.39	8,354.25
MASTERCARD INC COM CL A MA	100.0000	103.250	10,325.00	71.34	7,133.70
MCDONALDS CORP COM MCD	75.0000	121.720	9,129.00	93.55	7,016.25
MCKESSON CORP COM MCK	110.0000	140.450	15,449.50	144.19	15,860.80
MERCK & CO INC COM MRK	150.0000	58.870	8,830.50	47.38	7,107.00
METLIFE INC COM MET	150.0000	53.890	8,083.50	48.06	7,209.00

· Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

quity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
MICROSOFT CORP COM MSFT	275.0000	62.140	17,088.50	35.23	9,689.00
MONDELEZ INTERNATIONAL INC COM CL A MDLZ	200.0000	44.330	8,866.00	41.20	8,240.00
MORGAN STANLEY COM MS	450.0000	42.250	19,012.50	28.20	12,689.00
NIKE INC COM CL B NKE	200.0000	50.830	10,166.00	36.54	7,308.00
ORACLE CORP COM ORCL	200.0000	38.450	7,690.00	40.44	8,087.50
PFIZER INC COM PFE	640.0000	32.480	20,787.20	30.58	19,572.10
PHILIP MORRIS INTERNATIONAL INC COM PM	100.0000	91.490	9,149.00	82.09	8,209.00
PHILLIPS 66 COM PSX	190.0000	86.410	16,417.90	71.79	13,640.2

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

uity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
PRICELINE GROUP INC. COM PCLN	15.0000	1,466.060	21,990.90	1,276.08	19,141.20
PROCTER & GAMBLE CO COM PG	150.0000	84.080	12,612.00	80.77	12,116.17
QUALCOMM INC COM QCOM	345.0000	65.200	22,494.00	57.73	19,915.50
REPUBLIC SERVICES INC COM GL A RSG	595.0000	57.050	33,944.75	43.03	25,604.25
ROPER TECHNOLOGIES INC COM ROP	75.0000	183.080	13,731.00	173.68	13,026.00
SEMPRA ENERGY COM SRE	85.0000	100.640	8,554.40	102.55	8,716.75
SHERWIN WILLIAMS CO COM SHW	35.0000	268.740	9,405.90	284.32	9,951.20
STARBUCKS CORP COM SBUX	200.0000	55.520	11,104.00	38.39	7,677.00
T ROWE PRICE GROUP INC COM TROW	100.0000	75.260	7,526.00	71.80	7,180.00

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

quity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
THERMO FISHER SCIENTIFIC INC COM TMO	100.0000	141.100	14,110.00	92.58	9,258.00
UNITED TECHNOLOGIES CORP COM UTX	150.0000	109.620	16,443.00	112.24	16,836.50
VERIZON COMMUNICATIONS INC COM VZ	250.0000	53.380	13,345.00	49.38	12,344.00
WAL MART STORES INC COM WMT	100.0000	69.120	6,912.00	65.35	6,535.00
WALT DISNEY CO COM DIS	50.0000	104.220	5,211.00	64.90	3,245.00
WELLS FARGO CO COM WFC	300.0000	55.110	16,533.00	45.73	13,720.00
ZIONS BANCORP COM ZION	250.0000	43.040	10,760.00	27.30	6,825.00
Total Common Stock			861,528.56		719,511.6
Mutuai Funds					

Waterhouse Youth Endowment Fund Form 990-PF Tax Year Ended 12/31/16

iquity					
Description	Quantity	Unit Price	Market Value	Cost per Unit	Tax Cost
ISHARES CORE S&P SMALL-CAP ETF CLOSED-END FUND IJR	570.0000	137.520	78,386.40	117.52	66,987.90
PRINCIPAL MIDCAP FUND OPEN-END FUND INSTL CL PCBIX	4,768.0190	22.490	107,232.75	21.98	104,810.77
Total Mutual Funds			185,619.15		171,798.6
Non-US Mutual Funds					
HARBOR INTERNATIONAL FD OPEN-END FUND HAINX	4,812.0430	58.410	281,071.43	69.13	332,669.07
NEUBERGER BERMAN EMERG MKTS EQTY OPEN-END FUND INSTL CL NEMIX	4,636.0000	15.280	70,838.08	14.01	64,950.36
Total Non-US Mutual Funds			351,909.51		397,619.4
Total Equity			1,399,057.22		1,288,929.7